[ number of missing inner layers |

<hits>vs n

Ratio

[ number of missing outer layers |

1E —| Entries 116051 1g —| Entries 116051
E + | Mean 0.35 E + | Mean 1.875
r N Std Dev 0.5312 N Std Dev 2.04
oL Y ————— - S SO S p— [
10°E " Entries 116051 10°E " Entries 116051
F Mean 0.35 F Mean 1.875
N N Std Dev 2.04
2L S| I E S S ]
10 3 10 3 Entries 116175
E E Mean 1.876
3 I 3 I Std Dev 2.04
107°F 107 ek iy AR Brei EEEEEIIEE 1
o Entrie 116459 o : Entrie 116459
r Mean 0.3498 r . Mean 1.875
_4 Std Dev 0.5312 _4 N Std Dev 2.042
107F AR A | 1074 e B A AR i
F Entries 116539 F : Entries 116539
L Mean 0.3494 L . Mean 1.876
o] I \..LStd Dev 0.5308 Lo M R \..LStd Dev 2.042
107 — T :
101_6J_....|....|................I....!....I....I.... II
108+t T R : :
R == | 1 AR : :
0.95%
V 1 2 3 4 5 6 7 8 9 10 15 20 25
— D ercmr TO00EVT
—— D CI"I —1000evt
|j —— % |tt 4 T000evt Loy
mean il === b |t cpe ?C OOOet
20r C Entries 116051
o Mean 9.505
10%E { std Dev 5.386
: Entries 116051
- Mean 9.505
3 Std Dev 5.386
10° g T
F Entries 116175
o Mean 9.504
I 5.385
2 N
10 E s 116459
F Vhan 9.502
B Std Dev 5.381
R —
10 E- *| Entries 116539
E Mean 9.499
r Std Dev 5.378
AFc s by by e Py e Py Jraa - IS N RN FEEE "
L. Ug)| T o L.VoF
: IS r
y @ L
& I P O .
0.95 0.95
=3 -2 -1 0 1 2 3 V 5 10 15 20 25 30 35 40
track n track hits
[ N of reco track vs pT |
Entries 133002 Entries 201638
Mean 2.164 Mean 0.4801
Std Dev 6.079 = Std Dev 2.433
: I 107y T T i
Entries 133002 Entries 201638
Mean 2.164 : Mean 0.4801
Std Dev 6.079 ") N H Std Dev 2.433
: I 107 A h R g T
Entries 133002 : : Entries 201807
Wﬁn 2.164 Mean 0.4796
SlyDev 6.079 e I T B Std Dev 2.401
|_ 10 g
[nm 133002 Entries 201847
1 2.164 Mean
Std Dev 6.079 S [ . .| Std Dev
: 10 h :
| | E : .
Entries 133002 C ' Entries 201926
Mean 2.164 B . Mean 0.48
Std Dev. 6.079 10—5 ....................... PR Std Dev 2.4
: E ; oL
el - N R
: 010v3 ; 11T
B = . B
B T 1 . =11+ T
: & "‘I‘ st T
i A : E
2 ST T T L REEE |
. > 3 0.95! T . . . 3
10 0 10° 1 10 10 0
TP track



	Contents
	Page 1


